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Each question carries four options namely A, B, C and D.
Choose one correct option and mark in appropriate place in the
OMR Answer Sheet. I S S
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1. Who was the Viceroy of India, when the Rowlatt Act was passed ? -

A Lord Irwin B Lord Chelmsford .
C) Lord Wavell . D) Lord Wellington.

Qpereol H1L D g;suat_@sn)g)uu®5guul'_l_ Gurg @mé\[ﬁrwm @IEhbsat w7

A @aller diyy | B Qabav@urt® gy
C) _Gm@mé Ay o o D) Qeuedi s gy,
2. | Which qne.. of the following is the soﬁest ? ‘
YA Sodum B Aummnum
Q) Iron | D) - Lithium.
a?gg&amgmﬁ)@eﬁ o DEmgeumang 2 |
A Gsmguid L .. B ogficfud
O geby D) pdub. §
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. 'The first astronomer who gave the idea, ‘The earth rotates on its axis', is

2

'As a non-member who can participate in the proceedings of either of House of
Parliament ? )

A)  Vice-President
B) Chief Justice
C} Attorney General

D) Chief Election Commissloner.

BILTE@WeaD @\ aismmmrﬂgum 2 mitiSl e a|6\)eorr§ wurt et seu
BL6ulg Sena seflé LB Qiameiren Gugid 2

A gene QLTSS Seneeut S T

B) goeswn dHud

Q) ap'_.l_rrﬁ'euﬂ Qearyes

D) .gsm‘émmw Caiiger g enawmuir.

Which is the river on which Indira Sagar Dam is planned to be constructed ?
4A) Mahanadi | : B)  Godavari

C) Krishna vD) Narmada.

bs udllen @nsCan bHyT srar symemr SIL L B i Gefrergy 2

A) L&HTHS - - A B} Gargmeuf

Q) Hmeiyemonr | D) priwgr.

A)  Bhaskara - /1 B .'Aryabhatta

O Varahamihira | D) Kalpana Chawla,

el st oefle spadpg adumsg (pHedleh G]g,rﬂaﬂ&,g, suresilwes audveupT ey
- edudps
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G eugradliBeriyt © D) sévuem smebeur.
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6.  Which one of the following angles cannot be coﬂstr_ucted using ail unmarked

ruler and compass only ?
N 75 | B 90
J o 50 | D) 223°

af[p&mrr@tb Carcu Senaysaflé amaﬂa..ﬂu;.frg SjeneyGamrd npgid STbLdle
2 gelurd aps Carampams amyw Guerg ? ' '

AN 75 : B 90
0 50 b 225"
7.  For a Frequency Polygon.-. the points are plotted against
A} mid-point of the class interval vs frequency' _
B) lower limit of the class interval vs frequency
C) upper limit of the class interval vs frequency
D) real li_xint of the class m'gerval vs frequency.
PO SjNa u@@aﬁm&é\s\: ysrefaeh aph@ aTlyTas @;ﬂ&ﬁﬂi.;@tﬂ@y ?
A @iy Qm&.@lmqﬂuﬂsﬁm@ﬂqeﬁsﬂ us Sigliroleuedor |
B} eaugly @mt_G\suaﬂtﬂs&r &paugbLiysieil vs SirQleuator
0 wsly e Ceefide (Bmé)sumbqﬂqsﬁsﬂ vs oHitCeueior
D) eusly GeoCeusiulle 2 ahreno euribLjsiref] vs PO,
8. AICTE was established in |
A} November, 1945 B} VNovembér, 1955
C) November, 1985 D) November, 1975.
AICTE ﬂ@mnuf_;‘_ Y0 |
A}  meulbuit, 1945 : B) _ peuburt, 1955

C) peubur, 1985 D) meubut, 1975.

@ o o | '| Turn over
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10.

11.

12,

4
One of the main publications of Johh Dewey is
A) Secrets of Childhood B) Education Today
C) Education of Man : D) The Social Contract. ' 4
grat GCaudlar Qausiipaefer wasduorersg
A phogl uke reflub B @ereonws saal
€ veflgaidr aded . D)  s@smu eUUpsLb.

According to David Ausubel, “Verbal Learning” is

A)  learning a new language

B) .oral practice | : o o
C}  understanding verbal information

D} passive learning experience.

Gall gyaGualldr smsEILY ‘cuTbayflé shpd’ aeug)
A) qﬂu@mngﬁ\ Gt sHnd C\smreroug)

B)  auniGumft udhél

Q)  anbaifly samudsmer qrﬂﬁ,ﬁ@&nsﬁmg

D) Qeuepp sbp SgyauD. '

The Southern Regional Office of UGC is in

A) Hyderabad B) Bangalore

C) Chennai D Mumbal, .

vRsa&Es s wralué G (UGC ) aflar Qabhe DTS SjeeUNsD Sjsowbgieter |
@b 7 .
A  eapsyTUTS B) @urém@r’r

O Qaoedraser D) plbeu. '

National Population Policy was evolved in the year

A 1976 B 1979

) 1986 . D) 1977,
Csélu wése Qprens Qarsdians CamhpealseiilL. 21,5001()
Al 1976 : B) 1979

C) 1986 - D) 1977.
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According to AbrailamMaslow, ‘Self-Actualisation’ in the hierarchy is
A) first step ' B) final step

C) third step D) fourth stép.

2 0reT wravGer -alldr LG Hlaemeatld ‘genaNevmey 6resILS)

A @z Heow B @pd @@'é

G peiprd Hlane | D) pranam Hene.
| Who is the author of ‘Emﬂe’ ? |

A) Dewey : ~B) Bertrand'Russell
- C) Froebel - | D} | Rousseaﬁ. |
'Emile’ eraugedt o, Siflur

A) Guﬁ] - B) G\ur’ftge&ml JELGNEY
C) | st 1By Glusy D} @Gmn.

The university that has no affiliated colleges is

A} Madras Univé.rsiw

B} Maciurai Kaxﬁaraj ﬂmversity

C) Thanjavur Tamil Umversity

D) Manonmanium Sundaranar University.

sagriast GOana) e LOSMR&HSPHD FETUSVRMNBS.
A) OCsadioar LLSHDWESPHD

B) bgeO] STLITET LHSE0&snaD

C) sgoe shp uéus:smmé,&kp&fo

D) uwGaenpenfiub SHSTITT LGOSHNEHPHD.
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16.

17.

18.

19.

6
Human Rights Day is
A) December 10 - B) December 7 .
C] December 26 : D} July 17. .
peflg 2 Mevwselr Heid eTEATLIG
A)  gsbut 10 B) webur 7
C) weibut 26 D) goow 17.
Which one of the foﬂowing models is not on curriculum development ? ot
A)  The Tylor model B}  The Ausubel’'s model
C) The Taba model D) The Hunkin's model.

Fpsacaupper ag sdal ghur® aueriéfag QarLiidarsg 7

A)  evLeut mnﬁrﬂ ' Bl S&0udeldt wrdf
| C)  vurur wrdd h D) amerdleredlen wmdifl,
The chief objective of pre-primary education is to promote ................. ... of the
child,
.A} physical deirelopment B) mental development
C) social development _ "D}  overall developmcnt.

e SyTbussaaiisr opsdy Gpréswrearg)

A 2.6 quentdd) pflaflsge

B} weréuenié e sflafssé

O  sysru aemtiflou sfafssd
D) _@L@Glmrrﬁ,g cuerié flenw dfleMNgmen.

If the teacher finds in learner's activities something new or original, then the
child is supposed to be -

A)  intelligent B)  creative

C) critical ' D) motivated,
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7 _ S04
9® GPbosllsn sHD qutudsﬁrr@é,mﬂéu gCagub LHSTH JdeF GUOTITSTE GG
< Aflur s Hibzréd 4bss @pﬁ;mgmnmg} |

A uypderel | B sy sssdipaueL et

QO  Ppamiapéset D) sa&@aldslulLal.

Which one of ‘the folloﬁng is not a learning domain ? '

Al ;f)ognitlve domain | | B) Psychdmoto'r'domajn
C) Physiological domain | D} Affective domain.
£@$5®Lm§@jm sr'mg; oD HHDE LGS Goversg ?

A oPer ugd ‘ B) a_m_-@m&,&.ﬂu@é]

Q) 2L edwd ugdl : D} e amiédl ugd.

The magnetic permeabﬂlty H, Is

A n,=IH | ‘B p,=H/
0 pg = B/H | | D} n, = H/B

BrBe o L LGS Hpe 1, g | |

N wg = UH B Mo = HII
O w,=BH D) u, = H/B.

Accof_ging to De Mo’rgan’s second theorem A.B =

Ai 2.8 B} A+B

C) A+B | D) A+ B.

i WM aedT @yyeorLmb ‘Gggbrp&;;ﬂeh |..un,‘ Tg = .-

N A.B B 4+B'

é} A +B - D) A+ B .

[ Turn over
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l 23, Itisa type of machine in which the frequency of electric field is kept constant

8

~and magnetic fleld s varied. It is known as

e ep et FliTGleucion LD mTWEYD i._orrrgjuu_ SThaULD Gl et 6 ELEOSWITETT

A) linear accelerator S B)

C). van de Graaff generator D)

@bl

A Gpflue giseh PHHS - B)
C)‘ aume 19 Sgmi blesr Gubi D)

24,

Which material has high elastic limit ?
A) Rubber B}

O Quartz D)

e wif e Hluss seitenn QaraTL QUTEeT a5l 2

A glu ‘ B)

Q) geunie . D)

- 25,

Dimension of stress is

A MLT-2 ' 'B)

26,

C ML-YT-t D)

senmalledr ufloresoTin

Al MLT-2 B

C) ML-!'T-! ' D}

When n, =1.48. n, = 1.46, what is the value of numerical aperture ?

A 024 o B)

Cl 085 | D)

https://www.freshersnow.com/previous-yeér-questi

betatron

synchrotron.

S m e

Aet1@@migmer.

Aluminium

Copper.

Siuflafiui

Slggemer.

ML 2T 2

ML-1T-2.

ML-2T-2

CML-'T-2,

0-10

0.90.

-
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o L © sos

n, =148, n, =146 aeld, acn quﬂ&r mgluqéw . e
A° 024 B 010
o o085 | D) 0-_9@. B
27. _;Which type of defect ls‘electron.ic deflect'? | 7 - . .
A) ~ Line defeéf , | IS;) ~ Surface defect '
C)  Point defect D) fVOlume defect.
_‘ L&s&rm@ GPUT(H 6ThS CLERSHWITEN @smg)urr@ 7 |
- af geopUr® | B) uqulq GDPLITE
C qéﬁeﬂ @m@urr@ D) ugw GPUTH.
cerenes is uséd as a felaxatjon oscillator. -
‘A UJT | | B FET : | ‘,' ,
C) PNP transistor D) NPN transistor. |
JE— . gemitey SeeulupBlursss LwaTLBADS!. ' o )

A UJT

C) PNP gprendlev i

B} FET

D) NPN gyrerdlevit.

29. If 1 kg of substance is fully converted into energy. how much, energy is ’

- [a]

released ?
A) . 9x 10! joules

C) 9x 108 joules

B} 3x10!%joules

D) 0-9 x 1016 joules.

1 £.8). flenpueier QuIr@eT (oD SyHoeTs WIHDLLHADS. OeuafifitLEiD

<Lbpd ereloueatay ?
A 9% 106 gos

C) 9x 108 goa

B} 3x 10“‘@@@
D) 09 x 106 gos.

| Turn over
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. 30.. Geiger-Nuttal law 1s

.-A) R':a'](3 ' | .. B) logh=A+BlogR ;
0 vv=alz-b) D A=l |

QeI B v aflh)

."A) R=qavy? ‘ . : "B) logl=A+Blog_R
' he i
C}--\f- v=alz-b) D) ?L=eV

31, Zinc plate will emit photoelectrons whe:n which of the lights falls on it?
| A] Visible ' - B} Infrared
: ._.C]-‘ Uliraviolet , D) Laser,

a?pmac&n;sug)@m SThe 961?] uPh Gurgy s sa@ @aﬂ GI'G\)E:I_IJITGBT&:@GIT s_lf:}@u) L

'_ A saogmp gl B) cgqa-.eé]cuuq a.élrr
o Lpostgr &gt D} QGeer.

8 32.". In hydrogen atom H  line is due to the transition of electron from the state nof .

- which the value is three to which value of n?
A 1 B 2
Q) 4 ' - D} 5.

SODL gebr aq@uaﬂdu H, eufl, flever arasor ( n) epetrflefmi g Grmg, gﬂemau T 0T TS
- sy G b Guunteugme 2 edorrlpg) 7

A 1 ' B] 2
0 4 - D) 5. |
. 33. The refractive index of the core of an optical fibre is higher than that of cladding

;because of
e qA) 'better confinement of light
*B)"- maximum distance operation

C) easy to handle

D) higher life time of the material. _
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1 - . 80a
gpeil @Gmkpuﬂdu a..mena:ﬁ,é\m gaﬂaﬂmam e gLl umc&ru@gguut_l_ G\un@eﬂdn
gefaliesds oretoranamr allu aqé\e:m q@mwﬂé: | ' ‘

_ N @aﬂmmé 55_(5\uurn_®5@sfr DALBTE - t
- B S5 Qgraran Cewdubsd |

-. -_'C]j : sraﬂgrrs DHUTEHS®

: b] B G\urru_r,a’ﬂaﬂ Qumpeybsrebeng 2 WFSBH.

/

34 ‘What is half the angular width of the principal maxlmum when the number of
' lines on the gratlng surface is large ?

A Zero | . B Small = |
| Q) Large g | _ | D) Equal to the number .-of lines.
) ;‘ ’ - gpmeniluiés @gm@ perpdlgueiien surﬂa,swﬂwr srco’urasaﬂ&mas a;é'la,u) a:rsoﬂea @g;me»m '7
L QuEBLsH ey Gamem ...gqs.eom erenedl 1 ‘ . _
A &f B) @@!D"‘i ,
Q \ Siflen | D} mrﬂ&aﬂem ammﬂ&mmé FiD.

. 35., VWha-t is the change in entropy when 10 gram of ice at 0°C is converted into

e . water at the same temperature ?(L=80cal/g) o
A 003 3 cal/K - BT 203 cal/K -+ - . "
O 029 cal/K D Ocal/kK

0°C Qeautiuflenandlgneren 10 Symd usuﬂer.e.l_q 235 G\suuur_f;lmwﬁm gdurmﬂj:m
wrgie Curg gHUGD Gueurhpe wTbHpb erébreor 7 ( L = 80 cal/g) )

A 003cal/k B 293cal/K

g 029 cai/K‘j D) 0 ecal/K. |

)-36._ Heat engines convert heat energy into ..

: . A) mechanical energy S 'B) electrical energy |
C cl'kmical energy D) light energy. -

| Qe Gurae Gleuli Q,rj;tpsmeo .................... gﬁ LTHHILIHE.
A apdr adpe B Saemppe
C) Goud) 2y hped : D) gef 2bp.
fa] o [ Tumn over
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In superbonducﬂhg state
A)  entropy increases and thei'mal conductivity decreases
B) | entropy and thermal conductivity decrease

C) entropy and ﬂlennal"conducti'vity increase

. D) entropy decreases and thermal conductivity increases.

38.

. 39,

Lféaax_ﬁﬂ Blenevudles

A Quewurhned giflafls@ib, Gleuiuns S5 Hpst GepyD

'B) @u.murr,rgg_r)a\: wHod QeubsS&is Hpsr Gonyb

0 Quéurpme whpid QeulLkis Seis Spet 2iflaflégb

D) - Queurpod gopud, Qeiubs,$gis Hpear ofefseb.
Which of thre followlng is commonly used as local oscillator in radio receiver ?

A) ' Cyclotron " B) Betatron

C} Hartley oscillator D) Synchrotron. |

diereu@euateupget ourQeamed auriddic 2_efief () ammuﬁlmm@mna&u QuIrgeur &L
LweGdenp eIy 6TH 7 ‘

A ens&Genmiiymedr | B) Mimlgmew
- Q) errﬁ'i‘_'aﬁl'gmmuﬂurj)gﬁl - D) SengCymipme.
What is the particle Yin the given nuclear reaction ?
Be?+ He C‘2+Y:‘:I
A} electron : B) positron
C) proton D) neutron. - ”

OsTH&Hs0ULHetren a@}_{é@@aﬁ]mmuﬂa’) giselr Y erettem 2
4Be®+ He? -5 .Cc24v
A aeslpmer - B) . ureSiiymesr

O ySymiimer D) dyrgmer.
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A | : TR | | $-04
- _. . 40. . In a betatron, electron is eccelerated by | | \ |
A) etatic mé\gnetic field o ~B) ¢ stétic electric field
C)\ changing electri.c field L . D) changing magnetic field.
Seuntgreié aaslgreand WHE@GMG |
Aj‘ Blemeurer, Sbpleb Bl fleveowrer e eod
Q) mrrgjeﬂco'rg) @mqs\)m | D) o HThsLeD. \‘
7-' 4 1. Which is used to produce velocity modulatlon in Klystron oscillator ?
A) Transit time of the electron - B) Width of the drift space .
| VC) Energy of the electron : D)  Electric field. o

sﬂmmsml_ljrrem s@aflupplilées aamgi uu.nsu“ru@g;é\ le_ﬂm&(‘p’sua,u um@uppﬁmg .
8 (HEUT&HGHETLD 7 :

A erevdLymetles sl GDULD _ B) paf Glsuélﬂuﬂaﬁ &aasm.b o
C)  ereosLmeined bme , D} Lﬂmqeum

/42 ‘» What is the uncertainty in the momentum of the electron located in the

diffraction of a beam of electrons ?

2h _ h .
A] Ap-—;:- sine : ‘B) Ap=—2-—:,L sine

-
H

: A 2h '
Cy Ap=§—Tl sinG . _ D) Ap ;»Sllle .‘“,-‘,

- Siben GI'@OE:I_IJ'ITGDTEGTHGOT aflefiny aflenenalilée sreom_r;rrem Lg;g,gg‘ﬂsm ;{ﬂma:u.lmmm
- erebent. ?

A Ap=% sin 0 B 'Ap#-z-% sin 6
O Ap- -2thine | Dy _2h

. AP= Ysine sin e

B 43 At threshold frequency the K.E. of the photoelectron is |

| A} maximum 7 ' B) zero

C) minimum By - D) unity.

Lwest QerLb8s FTCeucsaic gefl Wer srra:é:L'_gerbTe;sﬂa'ﬂ Qués Submd adiug
4A) Gumwd N | B) 5.561 | - |

C)  Siguod , D) g

E , - _ [ Turn over
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44,

45.’

" 46,

14 .

~ Sir C. V. Raman got Nobel prize for scattering of light in which year ?

A 1928 B 1930

O 1929 | ” D) 1931. ‘
Hameg saiul L geflssdmsars sr. &, of. Gmwer ehs euELd Crrud ufls
Qubpmrt 7 . : '

A 1928 | B) 1930

C) 1929 | D) 1931,

What is the transformer ratio in step-down transformer ?

A k=0 : - B) k=1

Cl k<1 7 D) k>1,

@i lﬂé&rmnﬁ)@uﬁls&r Blesrwrpn effsn eresrer 2

A k=0 , _ B k=1

O k<l _ | D) k>1. |

For a maghctic substance what is the hysteresis loss pér'unit volume ?
A} 41 nt times the area of the I - H loop

B) 4 times the area of the I -Hloop
C] area of the I*Hloop

,"D) 2 times the area of the I - H loop.

- &MHBL QuT@efe HTee U@mmﬂé\) BuSE @UpLI eTesterT 7

17.

A I~ ~ H scimeildler Lptienis Gurrsvr@ 1 e

B) I - H ssememfllien uycieoun Cuiredtpy 4 wL g
O  I-H sciraxfiien uglieney
D) I-H savaffen ugusmuu Gumettry 2 Lm_lE:@

According to the theory of mterference fringes, the fringe width B is
A . Inversely proportional to d B) directly pro'portional ton
C} inversely proportional to A D) directly proportional to d.

GnSELEG allemenafen u@uurrmsﬁleu sufl gymeid B ereitug

‘A) dpg adit afldlg s Hellmsen B)  npe Cmr mﬂaﬁ]giglaﬂ@é@m'
O M Tt dssHmosh D)  dpe Cpi Ndssdeimie.
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N

15

804

_Thé condition used in the optjc'al‘ instruments to cf:alculate the resolving i)nWer is

A) Fraunhofer's critefion' T B]r . Frésnel's criterion
C) .Rayleigh's criterion - - D) Thomson's criterion.

e

\,
"

| -@aﬂuﬂjbs\) é@nﬂéaﬂé. L@ Ppemend semrdHGagharar __rf;ILi_;‘r;gmmr

| A) . majnsérﬁg@nuﬂ BlLith g eme .. B o°oﬂ§[¢ltjé) Blubsener
) '\ :'C_l. ""'J.”_@"“\ 5‘%&@@ o D} . gmbeves '@uz'bwwr-‘ |
49 | Thqbriﬁgéi fémpgrgfgre in the van der Waals' equatiqnli's VL_ .
o T, g » 1,- 2R
sﬁrrgisﬁr‘r@rré:%we&runﬁq@ Lnn@j@me; QeuiLpleney
\{A};_ T.= 2???5 B T.= .2—7"C;:_2
BRCIERY SRR

If the sphé'res. are perfectly -elastic, the loss in

= _betwee}l them is- S

K.E. due to direct impact |

N one’ ' B gifu-u)(1-p?)
. N ' ' - A - & ’

mll"n;[L‘LILUZ)2 '

2[m1+ﬁi2]

6

seupfipdler Gu ghuBd Gués sybps Gupiy

-
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D) zere. =7

Gamerhimal (papEIOLITES B¢ A6 QurELser - aafld, Cpt Gmrrﬁaﬂc_&r Gursy

A gep B 5I(ui-2,)(1-p?)
e ml.mZ(ul_u2)2 { o |
© 2(m,+m,) D &@‘,

[ Turn over
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51

16

In class A amplifier the output remains in which region ? b¢

A)
B)
a
D)

Cut-off region
Active region
Saturation region

Between cut-off and saturation regions.

class A Qupsdile G]maﬂuf@ Grgbg,u FEEANES @@&,@m ?

A)
B)
C)

D

B2,

-

Qo i UGS

Qewdur GO Lgd

Qe g Lgd) _

Qi@ whpb Gpall qu LEHse G K.

Application of reverse bias to a PN diode

B)
C)
D)

-Increases the potential barrier

lowers the potential barrier
decreases the majority carrier current

decreases the minority carrier current.

© PN mL@hng@ Sesr@eor g s #NtYy QaT@&en Curg

A)

- B)

53. -

e

D)

Berenwss sy sfefeen
Berereopss sy eopdpg

Cu@bLTeTens &L 5 Bl @eorm i Gondng

: eﬂ@urreénsmb sLgd BerCarmri L GODEIDG).

Fusion reactions can take place only at .

low temperature : ‘B] .j high temperature
(:f] - very high' ternperature ‘ : D)  medium temperature,
g{@&:&@& Corrdies ... G\: LDL@(BUS Blapid.
Al ﬁrrgp[_‘r,ﬁ Qmau@rmm K B) 2wt Geutuflene
Q) .:. <igls 2 it Qeuribenen D)  p0s$s7 Qeutumleame.
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54. A clevlce that counts indimduél_‘partmlés' but cannot measure their energy is

) i&]) G. M.'éoun_ter_..‘-. o V'B) mdving coil galvandmeter
o) spectrometér' L D) potenﬁometer.

-5suﬂ5§.suﬂ 5]6:61‘!‘666)6“ & G001 Gt @lq.aﬁlwrm %mrrm gmm;ﬂm %mg}mméa a,mésaﬁ]:._

@lusrs 5@6)51
A GM — | B @uig a@st sréaramorel
- Q) g‘;\rptbrrmmmrrsoﬂ . | D) li&s&rmg&gmwmﬂ

' 55 In Raman effect y is the frequency of the incident radiation, v!'is the frequency .
| of the scattered radiation, then

) y'=y or ?\.' = h a]  Anti-Stokes lines
# Y'<yor Af>A | b)  Stokes lines -
' - i) v'>7 or A <A ' c) ° Parent lines

Using it find the correct aﬁsWer from the following :
A W—a—c @i)—b B 0—b W—c (1)—a
O W—aw—bw—c . @ i —c W—b @w—a

@qrruae&r alleearalles yeadug uGsdfar dltGou, v sra‘srug ﬂgggeosm_,rbg ,
s&Metn a@&@mm ereaflen B

i) T'i=y gdomgm A=A - a) gl su@Lné mrﬂaseér
i) y'<y sfdeg A'>h b  &Glrs afss
W) yi>y .,‘gqe'oaag A< c)  pw euflsel.

@leupenpl LuweTLBGSF af@é:&sﬁm.m@ﬂs‘u G\urr@ﬁglmrrso"r aﬂ;un_mu.lﬁ' Capiroad
N W—aW—c @W—b B ®O—b @—c @-a

C H—a —Db (iﬁ]—c D) ({)—c (@) —Db (ﬁi]—a

E ' | : , : [Tumuver
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18

_ Infrared spectra can be analysed using vA_

A) Cornu’s prism spectrdscope

B) Optical fibre

C): Wordsworth spectrbscope_ .

A

D) ASton's_ mass spectroscope. \

264 8auy Bipbraaau Tl LLeTuPaug

A srigrev wplul L& Hipwree aemral

" B) gaﬂuﬂmm @sm;p

g Al - Reduce the internal resistance of the accum_ulator

0 Gauri v Qeurts Bpwree aesyal

: D) : %G‘UL.EUTGW @smgg @mmrrmm susmgsﬁl

i When three capacitors 2 pF, 3 pF and 6 pF are connected in parallel, what is

their effectlve capautance ?

C)"3'pF‘*:- : D) LypF.

2 pF, 3 pF whpid 6 UF ereip apesigy uS]GﬁTGga:aﬂasm @GG)GMTUJFTB& @mmmauuLan
ammrﬂm‘r Qg;rr@uuu.lsm BlesrCoées Hpein arcinent 7

A 11y B) 8pF

C'.-\.‘S].lFl | D) ll-lF

- What is the purpose of using high resistance in the potentiometer circuit ?

B) : Increasé the internal resistance of the accumulator

@ Safeguard the galvanometer

- D) Safeguard the potentiometer.

o
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19 - . soa

- Besrarpsgiome Lﬁﬂ'}i&rg‘)ﬁ\ﬁs_m Lﬂs&fgmg‘uw@u@a‘;@mmasrvr;més aamfsﬁrfn traéfm 7

A DerGaus amﬁﬁé&i 2 ot Darpenleis gopss
B Lﬂ_g&(@ém& seupdleln o eir I.ﬂGﬁTﬁGUiL..GB)U.I sflafés

s -

C) GEII'G'OGI.IITWTFI'— TN W) urrgjésru'r;& , I

-y tﬂmmgﬁgmwwﬂm&u un‘gasrréss. S o | o ',.

-

What is the excess of pressure Inside a soap bubble of radius R and surfaee
tensionc? M I

A ‘p=4c/R_ o B p=o/R

60.

e

/

62

~

A p=4/R B p=c/R
Ko pP= 20/ R . - D} p=4o‘-}R2.--

' C. p= 2G/R' D) p= 40/R3

Ra;l,g@m uiy @@sﬁlm& o-qfn G‘asrrmt._ G&rruqés @Lﬂ'lbﬁl@jafr @@&@m a..utﬂ
a@&gm sreéncm ?

-

Ifr is the position vector, what is div 7 ?

A 1_.: . : B ¢
lC),{_,B. o . D) 9.

5 ',n‘,]a;m:) ﬁmeuﬁlé&r QuubLrt raaflé div rsrc'ifrﬁgj L
At ; B 4 RS
c) | B T R
In a transistor o= 0 9. What is the value of pe? "

A 09 S ‘B 1
cl Yo . D 90.
grrs:sré]smi_rﬂeo o =09 aefld B—oiisar mdﬂuq eTeTaT 1
‘ ‘Al 0-9 a B 1
)._c}_g‘ o S D) 90.
Which type of waves are used in Iéadar ? ¢ |
A) wcrowaves B] ey Radio waves '
C) ‘Audio waves - D) .'Ultrasonic waves.

[ Turn aver
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20

Radar-é Lweu@$séomyuu enmaeh eamey 7

A pi g ' Bl  CryQur simeser

C) - Caerfimesr DI NG ST D) uowre semesar.
Which type of defect may be called as dislocation ?- = '

A) - Surface defect _ ' B)  Point defect

" O Volume. defect ' D) Line defect.

ETELSUSGITET GennUTHHeneT GENEYBET eTeTayD Fapeurlh ?

A - upiys GepUrE B el @epur@

0 uges @opur® . D) afls geopur@.

64... Type I superconductors belong to which type of magnetic material ?

' g5,

D) - SQUGTT sk ELGLTEe.

a Paramagnetic
B) Diamagnetic .
C) © Combination of para- and ferro-magnetic

D) ' Ferromagnetic. ' o | S

susng -1 SsaL e ape CuemeuUTeT &Thal QUTheT sTihes 7
A urgr s&Mhal Gurgpe -
B) Lt smpsi Qummei |

C) - umgn wd SQUSTT HTHEL AT @@mﬁ,ﬁm

‘What is the energy equivalent of 1 a.m.u. in MeV ?

A 9313Mev | ‘B 9313 Mev
Q) 9313 Mev D) 09313 Mev. |

B0 g Heop Swdlhe sowrer Sybpd, MeV-é erear 7.

A 93:13 MeV ' ‘ - B 9:313 MeV

C) -931-3 Mev N | D) 0:9313 MeV.

https://www.freshersrnow.com/prévious-year-question-papers/



i 66‘. The same radicactive nucleus may emit- N e

¢ .
Yy - a‘-;simul‘taném‘isly-’ o o o e
‘ B) "‘o-'t‘ily o and B simultanecusly
C) _eiﬂlgraorﬁax;ldyatat\ime -
e D) L B and y ohg .aft-er another. } “ I B :'-. |
S shialss SIEHED @@aﬂﬂu@'&,gmg} :
A gy Condé o, By sdied
B). 5Cn Ggg&,ﬁ@ o wHob BLGd - )
"0 g6 Crrsdle o sdag B ook v&élrmé'r
- D) @s&rbs&r et gpeitoras o, B oppib ¥ HHiast. |
' §1{ Ral;an eﬁéét is sirﬁilar to which effect ? - . .- | . g
- _ A) 'Tyndall effect A B Photoe‘lecu;ic effect
o ; ( C) Cdﬁpton effecf : : ‘D) Polﬁrisﬁttbu e'ﬁ'ectl;' - | )
s @j‘rrma’n aemenay, eThs allenerency -'95@@&051@@1 7 | . l .
| A geTé sﬁlemsneq B gefler aleveray s
C) grbLesn eflenerey - D) g,c)w sﬁlmmq ' | |
68..‘ P@pylation inv_ersion will be achieved when -l o | , u ;J
A)_w:::,cl? _ | o B)-'.wé\%;‘ ) ‘.
o w<%-11—(; | D wty
| FUCLTWYE CBTams saresprasd FHUED * ‘
._ A w>%%)‘ ) | ' B w=¥-11.—0 |
“C)' w<11? E o . D) 1b>1:]6..
E . o | | ' | ' )fﬁm-over -7

https://www.freshersnow.com/previous-year-question-papers/



804 : .22 - h

69,

A quantum state is defined by a set of four quantum numbers

-7 (n L m, and m ). For 152 state, the relevant quantum numbers are

+1 1
A 1,00z:5 & B L1103 o
. 1 - . 1 /o
C)‘101._2 S D) LLlzxj.

B Geursior_ b ;ﬂmw BTESTE GeumetorL id eradonaenTed mmqmu&aauu@eﬂgog ( nlLm ,'L

u:g)gju:r m_) 152 Beoaée ghp Gaureki_b amee

PR

)

70

"'AJ:' 1,0, o

C) 1,0, 1.?_'

B 1,1, 0 =

(ST MI-'
M= =

D) lll:

As the. wavelength of X-rays is smaller than that of visible light, the veloclty of
X-rays m. vacuum is

A greater than the velocity of light

F

"B) less than the velocity of light

Q- tofinity
' D) same as the velocity of light.

X-edltaeller samafend FERTEUD  gpeiiuedr agmm[ﬁ’mgmgé. a:rru.q.gum Gopars
@eiugTe, Qupiiesded X-adisefa SemeCGausih ‘

A gl HeoveCaussanss ariggib flsb

71

B gefldier HemeCasmpangs: STCRRID Gepey
- wgalengg
D) geﬂiﬁ]s&r élms@miﬂm@ S0, )

When white light is incident on a thin film, the film wlll appear coloured Thls is

' : ‘duetowhlch effect ? : , Lo e

A] Difﬁ'actlon 7 _ ‘B), Interference

C) Reflection - _ ' 'D)_ Total intemal reﬂection

Qmaur wL e gledr u!'y G\ma’rmm Blp gefl aﬂ@m Qurr@@ e sucovrasmrtu&.sfr

[&]

ngdmraﬁmrmm Blsde sryeonorar eflarena ez 7
A allefiby ellenene | o B epsdi0 alloera
| C)r_ Isrﬂ@grraﬂﬂqj : D) e s adloymefiiy.

-
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o 2 What lis the susceptibility of diamagnetic materlal ? - -. :
A) ) Low negaﬂve value o ‘B). High negat:lve value _ __
. C) N ,High positlve value D) Low posiﬁve value. S , |
..soSL_u.lrr &rrg;g,u G\urr@aﬂsm Fhud é]g)scrr g ? -' ( | - ’ ‘.
N 3 A] @mgpmrrm srilrr iy | 'B) -a_u.lrr Grﬂrr m@uq o - :
."‘-* C] !LUJﬁ' (ngrr gy o ¥ | D) @onaura Gri méluq‘ ) | .
L 73 Compressibility of a body is - - , ' R ._ " \' Qo
| @ reciprocal of bulk modulus \ R C. ._ > ‘ o
B : reciprocm of r:mdulus of rigidity | T
. C) product of bulk modulus and Yuung‘s modulus ) b
, I) proch\.lct of Young's modulys a.nd rigidity modulus R /
(B-Qun@aﬂm SWP&GH B .
<A ' Ll@mé, GHEHDS agh allflpn
B} -,aﬁ\mpuqeﬁ @mag@;})@ adit g | o - e B
N C] " _‘-U@m mm@m-u?w @amame.mﬂm G\u@a@g, Qg,rrcms: | FRE .
\"Ilj);f.':.mtg mp@w aS\ang)uqas @m&lﬂ&,aﬂm @u@e,@g; Qprens. = ._ 3 '. ' .. w
| —74 MKS urii:: of surface tension is o a T
i Al/ newton/‘m‘ v .‘ o o B) rmv»vto'n_.n';‘2 Sec'_z, '
C) newton/m C D} newton-m. R
'
“ugly @@aﬁ\m&uﬂsﬁ M.K.S. 0@ .
A gﬁll,u,t_t_.curltﬁ' 2 | B) ylend “2‘05]6'9'[”[4—2 ’
Q) Pyrer/S ' | D) IBIELCL#;LS. _ S
@' BT ’ - [l'I\.lmovel:
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~ @ In simple harmonic motion

A)  potential energy is constant _ ‘B kinetic energy is constan_t
© Q)" amplitude is constant - . a D} - phaseis constant.
EReedub s | -
A Peeurhps mrrgS]e§] _ B) .@me‘r;& < ppe wrflell -
Q) aiéa wrhed) | | B D)]‘ &L (b wrhed. . |

l 76. At whjch temperature water has maximum Speciﬁc heat ?

~

P B e
o @ sec
ﬁr'r rer[b_g, GeutuBlemendiss oyfls '_G];uﬁu g_ﬁ)qéﬂme&r Quiblm&@d 2
A o°C _ - B} - 100°C | Co-
Q ac | D) 50°C. . |
‘;’7'. A person is hurt on kicking a stone due to |
A)“ ' reectio'n

o . -B)" mass
C] =vel.eeitj‘r | _ ./’ D) momentum
@@ sevelleman nga@mﬁuwg @@m@aa@ 29 s;rrpu@mg srg,sarrréo T
A crélﬂ'aﬁ'lemsm : ‘ ‘B Plep
| d . HevrsCousid | L | . D) Ja_[begm
- 78. Wh.ich of the following harbours is not a natural harbour ?
A Cochin i . "Bl Chennai
| C} Mumbai : D) Paraclwip
Epsaremid gmg)@aalﬂja,mﬂé) srgsamm@aam @lurpme,u.lrrwr FODAPHD aidoso ?
A Qaréfer B) Qaeiemer

C)  apbeou | D)  wrydl.
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. "Recenﬂy one Indian cricket player has become the Si:»:th Batsnfan to score
f
10,000 runs in Test Cricket. The name of the player is L

P:) . Sachin Tendulkar

' 7('3]' Sourav Ganguly

B ssflér OLampést

&Lﬁugéleu @gbg‘{lu.l eﬂrﬂ&@o’l_ afyraefieo 10,000 @L_I_féw,smen Gll_emi_ %LLM&:GﬂGﬂ
'sr@g.g;-;%mrrmgj wi e afyfler G ereie 7

!

Q | G\&mgm emiﬂ@eﬁl

A] Marathas and Portuguese

v

- - ¢

_‘,

B)  Virender Seh’wag -

D) Rahul Dravid S LT

B) sﬁ@ggé{lq Gaaré

D) grEe @r;rrafﬂl;.

The battle of Wandiwash was fought between \

Y o ' [ |

«/B) the English and the French 7

SN o N
Q) the Eng]ish-and Portuguese

D) Mard‘thas and the English.

su;?,g,sun'ﬂu Gurrrr Wi LLIIT(I'IjE:@ @eL ey Dml_.@ulpmgj ?

~

7 A) Lnlj'rrl_lq.uglrasaft_ whpd Curiéedluresh

B) . _‘%rr'némcuu.lr'r&‘eh wppd NCEhe&eTyi s

q ,%ﬁjé\(ﬁowfraaeﬁ wpmis Guits & & St el

D) wgrn_Lqu.lrre.efr IoHEID %meﬁ(‘ammﬂ'am

Linear programming is designed by

a

A} B.F Skinner

+

© L.P. Paviov

- Cpranp Sl pos 2 (HeuTéHdlueurr

A . e, evdlement

C): edv. . L eiiane)

B) E. L. Thorndike
D) - Clark L. Hull.

" B)  §) o, gnicteLs
D) dleunits, eéy. g

[ Turn over
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$-04 | 26
82. Which of the following ﬂrst identified the Secondary Education as a weak link

and suggested improvement ?
A)  The Tarachand Committee ( 1948)
"B) - The Secondary Education,Comnnssionl( 1954 )
C) The Uﬁjversity Education Cdmmission (1949)
D] The Education Commission ( 1966 ).
 Bpssetor. @@asa@_psn a8 QoL floes adaldldar ageubn bleveusmw paepsedis
ﬁecm_[ﬂw Spmear CuoduBss euflosms sadlug 2
A gmyrehs sl ( 1948)
B) @oLflowns &,éuaﬂlé, ©e (1954} ‘
Q) udswassps sdals & (1949)
D) adald @ (1966 ).
83. Intelligence test scores are reasbnably stable after the age of
Al  one o 'B) two
C) five ‘ _ 4 | D) tWenty.
THS suu.lﬁlﬁ)@uﬁ]s& SN HHEIUGD Hianendlag Carsmen whluger Flemeowrerg 7 -
A gag . B guamp
O eby D)  @ous.
84. Which one is not an S-R theory mﬂl-reinforcement ?
A E.L ‘I:horndike's theory | |
B)  Hull's theory |
C) B.F. Skinner's theory - -
D) Tohﬁan‘s theory of learning.
UYL DHQI- T Fnig W GBI -Gubiamei Gevers Q&lrrsfrmer,
A} E. L gricdmeoLs Qsmetans - B  apé G‘Ia:rrefrsmea.

C B.F. dvdleant Qereiens - D) GLrawelldr sppé Qererams.

https://www.freshersnow.com/brevious-year-question-papers/



85.

86.

87.

27 S | . S04
The emphasis of National Board for Adult Education on Curriculum is that it

e

must be

A need-based , . B functional

C) job-oriented ' D) production_—oriented,'

@@Gmwﬁ soalsara Csdu aurflud adlypssd sesday sonplLb P TR

Gevetorg s
A Cseaunlen ougruemidier B) Qswdurlyen aq.ﬂumu_uﬂéi ‘
0 Ceueneveuminicou Crréd D) o pusdlenn Cprsd.

World First Aid Day is
A) September 11 , B} September 12

C) September 10 . D) September 9.

2 o8 @agupal Herd aeiLg

A Q@sirbut 11 B) Q&0 bwi 12
¢ GeuLbur 10 ' D) Geu_but 9.
For the following scores

10, 11, 13, 10, 15, 17, 18, 15, 10

the value of mode. is

A 10 - B 13

o 15 : D) 18
LpseamL pHICUETSEES VW& wélliou sesbH@

10, 11, 13, 10, 15, 17, 18, 15, 10

A 10 | B 13

C) _ 15 | D) 18.

[ Turm over
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5-04
88.

89.

90.

| 28
Educational Technology means‘* ' s . '
A} Technology in Education | |
B) Technology of Education
C Both of these
D) noﬁe of these.
seall B velud aeTug
A sealflue puafué ' B sdalfler i uadud
C) @ramGGw ' : - D @eipmer agjsqtﬁléamm.

- Which one of the following 1s not a cause for forgetting ?

A)  When something learned and not used repeatedly

‘B) Interference with pi‘eéent- learning

C) Lack of reorganisation of the learning material

D) Learning on the basis of short-term remembrance.

laf;_;pé,aacb’cn._mgb@eﬁ g ety opdléamen G GETTEE 7 \
A spposs Sebu AEdu LusTLRESTSS!

B)  spCury spnis Qaramgmindes rEUTE

C)  =poé QurELsamen m@ 2@l Celursg

D) ey srer Hlaverale o lisen il érj)ugj.

When the reason for acting is in the action, motivation is said to be

A) extrlnsic_ B) intrinsic

C) extrinsic & intrinsic o D) none of these.

@Gm@unqu&nm STyamb Q&mﬁ;u@ég’uu@ﬂo G]ufr@gj, SiFDeTT 20SHHLLGHS SIS -
A) Qms‘wﬂﬁQp 26065 ULIHE 51560

B) 2 erenmips mémnu@ggm '

C)  Qeuafliyn whpd 2 eferTihe 265 1RSSBS

- D) @eubpiet egmapldvenes.

5
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91.

92.

93.

29

Nattonal Integration Day is
A) November 19 > B) December 19
C) September 19 D) May 19.

- Cpdlu guhdlaentiy 51661(0 eTasTug)

A peubui19 B  sbuild

O QslLbuil9 3 D @o 19.

' The importance of Teacher Education was first emphasized by

4A) the Woods Dispatch

| B} the Hunter Commission

C) Calcutta University Commission

D) | the White Paper. |

S Mt seallllén ppoadusgiouseans ol meﬁlq@&éﬂmﬁ :
A  aprev QLenCuls

B) anenlLf sblavel

C) &0asHsT LGFEDNESPS s,nﬂaqas&(

D) Qeusireners smet.

Taxonomy of educatiqnal ‘objectives was first developed by
A) Mager : B}  Skinner

C) Bloom D) Thorndike.
saall @Qwéﬁlﬂaaﬁér @mmﬂurrﬁq.smm W Wpeler b et
A Gusi B) evdlaneni

C) yeapd .. D) gnireimen. &,

https://www.freshersnow.cofn/p:eﬂdus-yea&quastim—pa‘ers/
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504 . ‘ 30

94. SSA is established for achievement of
A) Elcnientary Education : BJ Seconda.tjr Education
C) Higher Education : D) Vocational Education.

SSA ereitug) £gpé.5as'm_mg')mjsﬁ THT_SHTH gHUDSSILLL G 7

A QerL&ss sdal ‘ B) @oLfloas sdal
O 2uiséda) . _ : D) - @smflpudipdl sevel.
95. Whose phﬂosophy is characterised as “Naturalistic in its setting, Idealistic in its v

aim and Pragmatic in its method and Programme of work™ ?
A)  Srl Aurobindo : B Gandhiji
C) Rousseau : | D) Tagore.

Siewidle Gupms GCardieasuyd, Caréssde sEsps Ceramamuyb WD
. ohpd QeweLTL @S D LsHé LuaTeTaas Clareenmenuuyb 2 eren_sflw sHgieud

LT@GLLG T

A a_wafﬂbbsrf ' ’ ', B erhdl sygaeh

C) wCeur : D) - S gt
96. Multi-factor theory qf Inteﬂigence was developed by

A) Charles Spearman B E. L. Thorndike

C) L. L. Thurstone D) Dr.J.P Gu‘ilfordl.

@e&mrmgﬁlmsu eferé@id Lo sryeils Qameiensenwy lCSgn'rj)@a.‘ﬂggsur'r

A emteny duiiutoe : o B) E.L. grrr'rsdufmué: ,
0 LL ghevier o D) Dr.J. P. ANaCurt@.
97. What are the primary cqlour_s used in colour TV ?

A Red, Green and Blue B) Red, Blue and Yellow

C) Blue, Green and Yellow D) Red, Yellow and Black.

https‘://www.freshersnow.com/previous-yéar-question-papers/



 seuft anmaﬁémnuﬂuﬂeﬁ um@ﬁ@&gﬂu@fn @gmsmw mmmm&m wremey 7
g : A) © flainy, ubes Ln[bgjl.‘n‘mg,rrr B) Heutn, oot mb‘:gjnb to@ea‘r
Q- gm Lbes DD LE s D) fleuy, ogsseh e —
--98; I the output of an amplifier is 10V and 100 mV is feedback from output to the ,
- mput then the feedback fraction is ATV VY Ve
RS oy oeo 3
Q 1 -' - . D) D |

) G%u@&.sﬁhﬁlem @suaﬂuﬁ'@ 10 V areflér, ydlér 100 mV a@g@ s.emerft.rrm lﬁe‘&ﬁ@tﬁ
®5n®$5uu@m (Burrg, D6t Lﬂm@rru_u LGS

‘A]'OI. | B 001
E I I T o
99k ‘-When the current is 1 ampere, what is the force per unit length between two
R parallel conductors ?
. A’ _ 4"x 10'7N/m". : | B) --45t$<10'7N/m‘
.ci 2x10" 7N/m o D) 2ux1047N/m
L&em(BsaTrn_i_m 1 aﬂ,mljlwrr srmﬂa: @l Gemems mu.ﬁé]&a.eﬂmx.@u.l TS lﬁﬂrg,ﬁlm

@&mmu@m aﬁk‘m& ETEBTEnT 7

A 4:;( 1_0'_-7:_N/m Bl 4nx 107 N/m-

O 2x 1077 N/m - D) 2rxx10-7 N/m.

' 100 For a flc_t state, the value of the orbital quantum number is.

0 3 | D4

.4d'@sméo&5,r_réar tfrr_ijgjt'_lurrsmg @Stll'l’Gl'fO“rLT sr‘mcwﬂm wﬁuq .
A1 B 2
Q) 3‘ g o o D) 4.
a] - | R { Tum over
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- 101.

32 .
J L
What are-the inputs of two input NAND gate at which the output is zero ?

A A=0, B=0 B A=0, B=1l

/O vA=1, B=1 Dl A=1, B=0,

AUER2{0) NAND s,g,éﬁléh Ths 2 el Raense Casfip &5l @b 7

102,

A A=0, B=0 . B A=0.B=1

C) A=1, B=1 D} A=1, B=0.

‘Which properties are necessary to increase the temperature of a vessel ? i

A)  Low specific heat capacity and thermal conductivity

B) - High thermal conductivity and low specific heat capacity

Q). High specific heat capacity and low thermal conductivity -

- 103.

D) High thermal conductivity and specific heat capacity.

86 UTsrsdeér Galufomeway sPsfss Cameure UGIITL|SEl WITEmey ?

A - geonbs Oauiu gy Hpsr wHpd Geniub sm.&@ Slpssr

B) 2wt Geul sL5E Spe wHpb Gephs Qe ghy Hpsr

Cl  eur Geudu ghydlper wHhpd Gonhs @euliLid &n_ﬁgj Slmedt
D) ewt Qb s Hpssr w;i)rng Qeutn ghufipes.
In B-decay an'uncharged particle of zero mass and spin % is emitted with the

electron which is

A) positron ' - B) negatron

C)' ‘antineutron : 7 D) neitrino.

B-fwgalles, aadyrer 2 Ler &) Bledpyd Sl—agrj).érwgbﬂmo/ Loy GO

BIGTEATLLADDI) SISO cvvvrervecannee, weee @e0EMILEGD.
A)  urerdigmes | B) Gmalgmer
C) %mq @lgﬁ:grra'ﬂ o Dj' By NGerrm.
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104 Dunng the formation of a bond

Al energy remains constant

. C)' some energy is iqst

. d\mmuq é_@smr@tb (Burrg.u.
TR ppe v

o Mén a;i,ebpé) @k@fm gHUGLD

33 L S04

'B]  some energy is gained

" D) total mass decreases.

B #fa 24D GupLLED

D} Gurgs Hep GoDADY.

105, The colour of light transmitted by chromium atom in Ruby laser is
A} i.iltraviolet' and gifeeh' B) ultraviolet and yellow .
C) green a.ncl yellow " D} red and blue. |

e Gs\:&rﬂeo @@qn’uﬂmm 2@y GeusildIGio @ﬂﬂa&:g&ﬂm sum’msmmm,en \

A} qmmgn‘ Lor_o@m LEaE ‘ B]  ymesgr mgpgu.p m@&eﬁ -
C):-‘ Lbs mg@m b@hE 6t . D) ey mij)@fo e
106. The pressdife of neon gas in the He - Ne laser is ............ of Hg.
‘A Olmm- B) 0.0l mm
C)" l1mm. D} 0-001 mm.

-@sﬂmm-@mnm (Soa&rﬂa: ;Ehurrsur mrru.mfﬂsur UTETE SKYSHHD

A 01848 . B 00148
C 188 D) 0-001 4 uﬁ'
10'7.‘ The electrical intensity at a point due to a charge of strength q coulomb at a
| distance riS : : :
A’ 4ne e ,.r N/C . Bl 4ne e .r? N/C
‘ 2 ‘ . . o . ,
"__ﬂ_ . q :
G ame €, N/C - b 41teeerr2 N/C

q Sagild ﬂmwu;gé\aﬂ@gﬂ rif Qgrrmauafﬂas 2_6irem Lpneﬁhﬁlm 1hledr G\&gﬂa{

_A) 4neoerr_N/C B) are e 12 N/€
Q —1—— nyC D) —3I1—— N/C

l’I‘lir_n over § -

FE (&)
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108. Ina ballistic galvanometer, the suspension fibre vibrates in the magnetic field
for a longer time because of ' '

A) . M.I. of the suspension fibre is small .
' ‘ B}J" resistance of the suspension fibre

_ C) friction of air |

D)/)’ M.L of the suspension fibre is large.

a]anmcq ST QD &réeumemsiL M, ﬁnmguqmgﬂm @mmgw eﬁmlﬁl&&@m .gqé]e, (Brrr;;rw |
aqé‘lnsqm}u) gl e |
A sblsgeen Heoens @@u%é\mm @mwm

B asmsﬁ]éar@mﬂm L&mg,cml_ |

_ C wnpgSlm 2 iy . o |

. D] &mt.‘:\&a.u_r,eﬁlwr Blereung SBousSpesr a{éﬂ&:m B B C

109 Impulse has the same unit as S - - |

A work B} angular rnomentum N ‘.

Q) linear momenturmn - - _ D) - force ' L

- s,cwrg,ggrrmﬁluﬁle:r SG af&p&.e,mt_ srg,g .@-|6\)@L_GDT 1O ?

A Gmmeu o - B) "-(Ber.rrswr a.[bg,m
0 Gpflue L[bg;m — . D :._-'usﬂma.-’_ ' ).,_s:_)
110. Coefficient of viscosity of water is L R o ,C :
A 00INsm* B O 001 Ns. m* 2'\"
). 0-0001 N.s.m~2 R D) ,rlo 00001 N.s.m
5rﬂ6m urdlidy erador | | e .
A '-*'0-011Nsm‘2 | B 0001Nsm2
'O 00001 Nsm™? D) 000001 N.s.m~Z.

. 1 1 1 N- type semlconductor as a whole is
A ‘elec_:u'icr:_ally neutral
\l;]\ négaﬁvély charged -
C) ‘positiveb‘r charge_d’
. D] more positive chéfge, and lessr n'egat;ve cha.fge. |

(&)

https://www.freshersnow.com/previous-year-'question'-papers/
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‘ N e @mg)e,t_g,é Q,o@mgﬂmrm

- A Lr,@@smeug, g,smemmumt.mgj

- B) GT'HSIH” L&m@mﬁ'l_l._@am_mg]

'l Q. (3[5|T L&sur@smm_t_@sml_u.@

: ‘D)‘_k' &QE» it LE]WGsmm_l_(g:m GODHS. sré]rr Lﬁ]wr(‘JsoTrrl_l_@m a_am_u.lgj

. 1120

A T2 ). : S m2)
A]' H =H0 1'.;-—2.‘-' . 'B) Hc-,__-'.'HO 1__7_"- _

113

“ ]14

RN |

A)--f" ";‘1'-21, | .é) - 0'8"‘

' @@ .gqana: 51055@”5]55’ @mfpmsu GI’GD'OT erebrenr 7

O H,=Hgl oz-1| D) HC=H0(
L S SRR AR 1
A H_ =H,|1-—=5| =~ B H=Hy| l-=;5
T ': remajns constant : B‘} . increases

Q) -decreases_‘j' D} may increase or decrease.

What is the ripple faetor of a full wave rectiﬁer ?

ST

'- C) 048 o f B .D)‘ 2. ol R

N »:117-2:1‘ I B 0§

O 048 :’,; D 2. T

The critieal magnetic field of a §uperconductor can be repreamted by __

2
T2 )

<
__1 .
T2

o
When the bond length is decreased the bond energy

. [Tumover -
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ﬁlsmmuq enid @mm&@uut_urm @mmuq S DD
A orprg : ‘ | B) erﬂaa@u)
. O @opub | - D sfallsed opeg @eDuD.
' 1 151._1’In Newtonian mechanics, the motion of the bodies travelling at velocities is | v
o A equal to that of light | |
ﬁ} greater than the velocity of light »
: C). _ less than the velocity of light
- ﬁ) ' very much less than the_ ireloetty of light. .
- @igl'.L'GBf s.r[bill;réﬂu.le&é: Lr)aa@aﬂst’rtg) QUL SHefledr Hevs Gausid
- A el 5\@&(‘3@5&5\9’3@' gob
B) @eﬂuﬁ]e& Qm&@ma’&;mg ol sdlai
C) @eiﬂuﬁlsm HeaneBouapans eﬁ\l_ GoODa
' D) @aﬂuﬁ]m @m&@magmg ol L&&&@mg)a‘q
. 116. What is the function of carbon-12 in carbon-nitrogen cycle ?
o Al  Auto-catalyst ©. = . B) - Catalyst
C) Auto-oxidant D Oxidant. - S
BTG -G g6t argpr‘bauﬁ'lsb smitues-12 &1 Ceuemen erebren ? |
A g dfeoeydd B aﬁ]mmgéa‘l
p] g %ma&gGmﬁ)@ . D ssedgCaph.

°117. It is the interference pattern formed when scattered radiation from a material '
and the reference radiation interfere with each other. What is it ?

4

o A} Photographic plate : B) - Gramophone record
Q Hologram - | D) Compact disk:

f | o6 Qurgefld UL Pepoelbss shopseb, GupGanst ShepsH@D @ml_Gtu"
: ie;rrpu@eﬁsarp GnHEL( eleereurds Cgmebipid GDISE._H SenDlIy eTeTLIG eredie 7

A gefliue s&@ B yrCursCures ufey
Q) (B@_ngrr(.‘%sﬁrr_ﬂtjrnb ‘ D) Opesonds snt;@._

]

E—
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| g "-,-\‘1 18 W,h31 happens to the mass of the electron as its velocity apdroaches the velocity
] oflight'? o ' - |
frm—
a0 .2 o : Dj)'-_;o,\‘— i

_f' @@ srmmt_l;rrrecsﬂcur ﬁm&@m&m @sfﬂuﬁ]asr ﬂm&@m&gmg QLF,@M@LD Qurr@gu .gqg.em
' _rf,lmgui\eu FHUGD Wwrbmib srsmemsurr@m ?

FACO R - R S
: _:_.(":) 2 o ;' \ D) . o
119. iEllipt:lcal nrblt for an electron was proposed by
A NelsBor B Rutherford
C). Peuli L | D) Sommerfeld..:./-/’ |

sr@é;t'_gwei‘rrﬁdr cuL'_ﬁl‘_LUu'rr@guSIé)' Csadpg aeord Qaflalgseut

A ey Gu - B @t HCUTE
| ) CJ | Qiened] \‘ ‘ “ D) smoft o°o|5vab®' '
LZO Which type of cells does not require external battery to operate ? .
A Photocmissive cell R \ . Bl Photoconductive cell"

o Photovoltalccell ‘D)  Stmple voltac cel,

@g,g BT tﬁlscrasmmam (‘Smms\) Q&tﬁmgsm@ Ym uS]afre:ea a- D&G (Bg.smmtumw

A] pefl suﬂgpq Lﬁlsur&,euw D B) gl a_gg Heéraad
, 'C] @aﬁ CSGurra)L_ I.&GUI’EG\JLD E D) sraﬂur@mrreiu; Lﬂﬂ'STSG\th._
. 121 ._In which Indian city was ﬂbre optlc system introduced ﬁrst PN
- _le) Delhi o taj"-; Pune‘_
B ©  Mumbai . B '_ DI Chema. . T

@nduralle waaipsars Genp gefl omwoiy apg wrpaTse Qpribsiul g 7

A)  QLeued _ _ B] ~yem
- C) - e - ' D) Oesatevan, . -

‘ https://www.freshersnow;cbm/previous-year-question-pa rs/
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- 38

-Antimony and Bismuth are preferred in a thermocouple. Why ?

A Thermo e. mfiise - B) R 'Iherf_n"o e.m.f. is small

o ) Thermoelectric current is large D) Thermo e.mf. is large.

. Qmuu Lﬂmmﬂgl._mt_ufﬂe\) =Qi,iic:m.q.u:;su'ﬂ whHpn ﬂdumg; (Bg;n[g;@g@ﬁﬁuu aﬂampasr e;rear r

B 'JA) @muu Betreflusg edlens o B Qalw Beareflube alleos SPDeY -
. ) G\cuuu Bler@eorm’1ib Syflesd | 15] QWU'—' lﬂ“““ﬂ”ﬁ‘@ eflans '&lﬁe’m
: ".:I’AZ:'\!.’;..For a given materlal if the Young's modulus is 2 4 times its ﬂgid;ty modulus
&': ~what is its Poisson’s ratio ?. _ ' o )
-'-‘Alj w2 '1'3}".‘-'0‘-2,' S
O 04 Comhe Do |
: -"@@ Qunefe wkigema &15““ aSIemr,guL]& @mmgmgyu Gurds 2-4 LDI_If:I@ srsuﬂéx
| '.,glg,am urru.:arrsoﬂwr Boey aeien 7 r
glesa oo

BV (VxA)=Curlgrad.f

Which en'e of the following vector relations is correct ?

A _"V NSRSV A)+A. VS :

C)- VxVxA VZ[V A)-V A

D) vfo=f(_V'.A)-Axv_f., |

&Gy G}a;rr@éaaﬂlluf_@aﬁsn QeUSLITIT LedTLITL .6 g efurens; 7

A V.(fA)=f(V.A)+A. VS

‘Bl V.(VxA)=Curlgrad.f

C) VxV.XxA=VZ(V.A)=V.A

D) VxfA= f(V.AY-AXVf

https://www.freshersnow.com'/previous-year-question-papers/



.125 In SHM eQuatlon y 6 sin [ 2 nt + n/ 3 ] What is the period of oseillatic.n ? ‘

A) _r 4, sec e i E l ) 5 sec O
3 y 6 sin ( 2 1tt + R/B ) e'rsml;g a?rﬂm&xﬁ)me,ese ( SHM ) &u}asrurru.q.m 9*“’9094 (BED'JLD
o aemew ‘ _
. / , . ' : - .
A 4a5|soT,n'Lq.\ o i " B) - 5ofamy
. C] '7 2. 5 aﬂsmmq. l _ ' | N D)' 1 eflenmy.

B! 26 A Carnot englne operates between 627°C and 2?°C Its efﬂciency is

~A;-‘_-._9o%t I . - B 60% A
¢ ese% D) 50%.

@@ a,rrnasrr”rL_ @mgé{!rjm 627°C u:sp@w 27°C chuuilmma,@mﬂm_@m @&me\)un_a_rrm
SiGe @wagé\mm | K ' ’

A 90%‘ B 60%
.C}' 66:6% o ‘D 0% o~

127, _What type of force Is in between molecules of a polyrner ?

A Gravitational force o B) Viscous foroe- :
- .C) Molecular force - - D)  Force of attrﬁeiion.

uredwfle BB apadbiansahalol Cu ghuib Nevallen cuana eredrenr 1

A Oy s - o | . B) | un‘@ﬂs&m éﬁ]aﬁ&
C) @@&,aa@ aNems o D) aaéuﬁ‘éeﬂ aNemg .-
.128 ’I‘he hardness of pure ceramic oxide can be incxjeosed by adding which
" 'elements ? . '
A) Carbide and Chromium o '7 _15)', Carbide.and mmde--; o
'C) ’ Nitide and Chloride D Nimee'and Acetate. |
& I [ Turn over
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apswrer Qarmbls Sy Sanenig 6T aqwrgsgérmmmm g.qé,]&;rﬂa& erﬁg. g.suﬂmlw.ansn& '
QBeirée Caidm@ld ‘ B |
A asrrr‘rmu@ whmd GHBymiub | B arieu® Lﬁ[b[g]fi) anipL.eny(H
VC]l sm@ﬁ.mg@ WD @Gmrrmg@ D)} oplord mtj)@fn. QEIGLL

: 129.-:|This is related to a particle in motion. This must be well behaved that 1s single
- valued, finite and continuous everywhere This is

A ener‘gy B B  momentum

C) wvelocity ' - D}  wave function.

Q8 Qusssdeueion Sie@sL e Glg,rn_'r'rq‘a_eml_.mgj @& erdveom @l_r&uaysiﬂguin ‘GB

oy’ Q_GmLUJﬂT&BG){lD G\ﬁrrl_ﬁ&eﬂ qg,,sargrram;m WhHpib sumqm[gjéssuuu_grr&sqw ACELE ‘ ..
CeoucmBio. @)z | -
A appe - B) epgb
o) s Cousb | o D}l Sjeredemiy.

. 130. {,k’ir:cording to special theory of relativity, space and time have

A)  absolute meaning : B}  relative meaning
C) selective méahing . D) vague meaning,
Hpliyé smys G\&,rrs;'rsm&,uﬂs&ruq. Oeuefiyl HHID CHTAPD ireerericrrivenns . Lm-l_luﬁj-.‘

A puewLTe THSID , B)  smiysoLw fHsbd

-0 CaibQsdss dsb D) Ogefleubp Syrembd.

13 1. The value of Lande’s splitting factor g ; for an s-electron is N )
A) 0 B) 1
1 -

Q) 3 D) 2.

P S-TOGLTTEISHST e enreGLulier teneys smyesfl g - mﬁuq
A) B 1

o) D) 2.

W= O

] : https://www.freshersnow.com/previous-year-question-papers/



132 How many types of Brava,is lattices are possable ? | i
| A;“' 12 B4
o b s
: srgalg,es'mra.leowsmrtmr‘ JQrenarehy a;sﬁaﬂé@mrr@suaaq‘r é{@'mm mrrtuilll_g'zr_‘ecﬁw@ RS .'
A  ‘12 SRR - B 14 |
. cj 16 o o . D 18

. 133. Ina Ncwton ] ring experiment the diameter of 5th ring changes from 1. Scmto |
- 1-2 cm when a liquid is introduced between the. lens and the plate What is the

| p‘ofthe liquid? _ , .
'A);'jl L . B 225
¥e) 28 - o . D 30.

ﬂltg,l_t_sm suemanué Csngenarufic aflbnebed, sogersd 5Gutfrcwrmq.§>
- palghelle Cu dad eoamseh Curg 5-sug werarwgdler . afiin
1.8 Q. . SNimppy 1-2 Cs.f. 2 & mrrmja‘,ln;r)gd élgmg,élm @aﬂa&lw&m srcm:rr (1.11 '

' srsmasr? ’

A) 1'5.' o _ ' ‘ B) 2‘_25.\‘ |
0. 28 . Doso
4134.. 'Fhe magmfying power of a telescope depende. on _
| A wavelength of the light =~ B}  diameter of the lens - .' _
Q) refractive index of the lens \D)  focal length of the lens_.—
QipT e Crréfller 2 muCUBHESS Ser \ ..... ..... - QUTBSSE.
A gellller simmenterid B)  eflmader oliip
| Q) eldmaler geflalowss: eaor D)  eléemender ealug gmjua
‘ t1'§5 In tiamped harmonic oscillat.ions the amplltude of oscillaﬁons
o A] gradually decreases P B) gradually lncreases'
' C) remains constant S lJ) ‘becomes inﬁnity
g,smt,uq@ Fene D|eneuey s efasr (Burrgj a;,ﬂrrcq&sﬁlm aléa
A) ngjcum_ﬁ GopYid . B ngjsurras aéla;rﬂé‘@lb
Q) m;nprrme'u @@é.@tb D) waddersgy.

E - . | ' " [ Turn over |
f | ' https://www.freshersnow.com/previous-year-question- rs/
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'136._ Ultrasonic waves can be generated by .

| \AD ,Piezoele_cti‘ic'-éffect . B}  Doppler effect o R kr
C) Kerr effect o | - D) Thomson effect. - -
ﬁ@mneﬂ"a@méeﬁ THTITE 2oL &GHLILIL @)Lq.ﬂin ?
AI SCeur erevssifls aﬂimmm B)  wmert alleveney
C)‘ Gls,ﬁ ellemenay i D) . grﬁbemc&r elleneney.

137. Cobalt is used in the preparation of -

A)  ceramic nié.terlal ] | B)  Thermoelegtric matertal -

C) " cermet material - | | D)  optical material.

CB&rrurrénimu,ﬂs uu.la'ﬂu@gél ................ G\ugr_(r_r,sﬁmmsﬁ a_@s-un"é.&a)mh.- ‘
A Qsgmds .u o B) Q@ﬂu&s&r

O @endl - D) gofidus.

138.‘:‘ Zener diode is used_as
| _ AJ ~ voltage regulator : .‘ B) rectifier -
C) amplifier . D} oscillator.
ghenmt L Gumgesr 2 uGuraib |
A uS]sur SWHsh sodL@ssd - - B @ Hpsd
| C) seoe Quesd D) seeflupd.
_ 1::_39‘.7 The empirical formula for tﬁe nuclear radius is |
S A R=ryA"3 B R- ro A0 |

C) R=r,A?? ' ‘D) R=ryAlY3.

aq@_;é:éa@ Tsdlparar Camana

A R=r,A-?%3 B) R=r A !/?

O R=r A3 . D) R=ryAV.

https://www.freshersnow.com/previous-yéar-q.uestion-pa‘pers/
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S 140 .In:the follomng reactions Wthh one is possible ‘? | -

1

Al A°—> ttep ‘.‘; . B p+p-v—>n+p+1t*
a iéwe;;wwu_ Ty pﬂ,_}p,,r |
afbp&;aam;sug)@jsﬂ %rmaﬁms& @mLQu@mg &&gé]mm ?

A A°_—> nt+p . B p+pl—>.n'i-|-_;z;'+ n*l
KC) 'e++e —>].1 +|1 | D P"'}’J—’I?""E+

‘ ,_141 thch condition is to be satisﬁed by a norma]ized wave function ?

A J'_-\l{;(x)"llllxldx=0 | B} - '_[-H'J\!I'*dxdy,dz,#l
a . ‘ ' _
Jvitav,(oa=1 D [yy*dedydz=o0.
a . ' : ‘ .

\®M(§JL| Qe L 2emed emiLeTS6l GI'GGTQ)@IU 2_geyb [Hlubhgemesr wrg 7.

b & - - | | :

A J._‘.J’:(x)‘lf'1'{x)dX='0 B)-"J-.ww*dxldy({zé-l‘ |
a - . . . ‘ X .
b - o
I'W;(x'l.qtl(x)dle . D) j\vw*_dxdy.dz,-jQ.

-\

. 142 A rod 11 m long is moving with a velocity O- 6 c. Its length as its appcars to a ! '
staﬂonary observer is : -

A lm : o B 2m
O 036m - D) 08m. - fg\_

S0 Lt encipeiren g,m@urasr@ 06 ¢ HlenaBouags_en Lr,&:@é}a:rmgl ﬁlmmwrreur
PG UTFDUUTTESS i@ TG ﬁsrr(g)ml_tug.rrea (Sg,rrwrg;;m ? o

A 1m ‘ ) m'zm-
) 0-36mi\ ' D) 08m. .

@ - | | o [ Turn over .

https://www.freshersnow.com/previous-year-question-pai)rs/



804 | .  | Caa

© 143, The weight of deuterium is

A) thrice that of hydrogen B) - twice that of hydrogen o
C) equal to that of hydrogen D) four times that of hydrogen.
gy fugdles dlenp

A oanlyger GuraTn dpdip LLEG
B) mml'-msﬁ Curenp @@ wbG
C) oanlgoashE gwob |

| D) evaolymet Gurety gbrra‘ﬁ@_ I..DI_IT':J@. |

144. The frequenéy of the microwave generated by the magnetron oscillator depends :

.. on
A) breadth of the resonant cavities
: B) thickness of the resonant cavities
- C) frequency of RF oscillation existing in the resonant cavities
'D]. magnetic field, .
aarrr,'r,g;sulrru.tl SiemenilupBdlés 2 margd ews@ym Seenllesr FliGieusds
A Gbdameay QLjW[BQ(;]IsﬁT 2eaEmel QUTHSSE
| B gédoea Qurpdlsr suwamel QUTESSS
C gsdlweaqn Qurpgsdie @Gosdldan RF saallar gt Cleusdon el
QUTEBSSSI | |
| D) &ThHsl yevsasl QUnGHSE.

145, The potential at a point due to a charge of 100 micro-coulomb at a distance of

. 9mis
A 104volts . B) 10°volts
| Qooco o ‘ : .‘ o
C) 107 volts S D) 10 5 volts.

https://www.freshersnow.com/previous-year-question-papers/



146.

147.

148.
- light of wavelength 5000 A by means of a diffraction grating with 5000 llnes/cm.

| 4_5-_"-. . so4
100 mmm@grr &.@“.D s_emuu.l @@ lﬁlsm@n'u_m 9 Lﬁ’ G\g,rrmomﬂa) @@a@m Gurrgj.
SibBLI qmaﬂuﬁleo S|S0 Lﬂasrsm@ﬂ,m ‘
A O‘Gmrrml_ - "B 10°GeutéL

0 107 Gamrél - D) 105 Geuréor’.

What is the current sensitivity of a moving coll galvanometer ?

T Cc - : . InAB
A 2z RAB ‘ B ¢
0 == p M2

@m@@' H@eh Sievea) ST ED sreveufeorm 1511 Medr s_comri'sq HILUD eTasest 2

T C ’ . InAB
A 2 waB . B =
o & m 22

nAB

The flexible optical ﬁbré bundles are used in medical ,instrume‘ntatlon. What is

its name ?
A) Stethoscope - -~ B) Endoscope
O -Oscmoscope , D). Kaleidoscope,

cuemenh g G\&rr@é,@fo -gaﬂ@mkpéa &Henm s et m@'&@miﬂmm 'o@oﬂ&oﬂd)
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What is the highest order spectrum which may be seen )rvith monochromatic

when adjusted for normal mcidence ?
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ie rate of loss of heat of a body depends upon

A)  mass of the body
| temperature difference between the bodf and surround_m.gs‘ \/]
('5) colour of the body
D) specific heat capacity.
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| A) less than one B)  equal to zero
j C) more than one | @ equal to one. /
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1 2 3 4 5 6 7 8 9 10
B A C D B C A A B C
11 12 13 14 15 16 17 18 19 20
A A B D C A D D B C
21 22 23 24 25 26 27 28 29 30
C D D C D A C A A B
31 32 33 34 35 36 37 38 39 40
C B A B B A B C D D
41 42 43 44 45 46 47 48 49 50
A A B B C C A C A D
51 52 53 54 55 56 57 58 59 60
B/D A C A D C A C A C
61 62 63 64 65 66 67 68 69 70
C B D B C C C A A D
71 72 73 74 75 76 77 78 79 80
B A A C C A D B D B
81 82 83 84 85 86 87 88 89 90
A C D D A * A C C B
91 92 93 94 95 96 97 98 99 100
A A C A B B A B C B
101 102 103 104 105 106 107 108 109 110
C B D C D A D D C B
111 112 113 114 115 116 117 118 119 120
A C A B D B C D D C
121 122 123 124 125 126 127 128 129 130
B D B A D C C B D B
131 132 133 134 135 136 137 138 139 140
D B B D A A C A D B

141 142 143 144 145 146 147 148 149 150
B D B C D D B D B D
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